Cre u - ®
CFantanal howeis

FONTANA 20"X 40" MARTINIQUE LARGE OIL RUBBED
BRONZE SOLID BRASS LED RAIN SHOWERHEAD
SYSTEM INSTALLATION INSTRUCTIONS

Product code: FS147LRS

BEFORE YOU BEGIN

Before you begin, please read the installation instructions below. Observe
all local building and safety codes.

Unpack and inspect the items for any shipping damages. If you find
damages, do not install.

Please note all products must be installed by a professional and certified
plumber otherwise warranty might be voided.

POSSIBLE TOOLS REQUIRED*

OL Sr— ya

Plumbers Tape Tape Measure Level Adjustable Wrench Hex Wrench
G (v / \
Thread Sealant Drill Pencil or Marker Screwdriver

*not included

fontanashowers.com

@Z/Lﬁfzﬂ(@/mwaw 1 .
Customer Service: 800-684-4489



Shower Head Installations Instruction
Parts: Step I:

Mark the 4 drilling positions , then use
the @emm drill to drill holes on the
wall according to the marked hole
position.

Step 3:

Y B—t)

Y =)

| 1
Y

Yy B—w)

Inset the plug (D) into the hole, hold the fix base (C) use the tapping screw (D) through
fix base(C) holes, tighten the tapping screw (D) tighten the top shower fixed bar(E) and
the inlet hose (F) with the fix base (C)

2 fontanashowers.com

@théﬂfwrd/mwaw .
Customer Service: 800-684-4489



Step 5:

equally throughout the showerhead.

Step 6:

Fixed the top shower with the top shower fixed bar (E) , then connect with the inlet hose
(F) . 2 Inlets For RainShower are provided in big shower heads so the water disperses

D
Y , ©
tanal Dhowess

S

The installation is completed.

turned on.

DQDQQQDQDQD
o ® 9 © ® ° 9

Note: The LED lights are powered by water flow, and will be activated once the water is

oo o OSSP
neanaew9°“°°°°

-]
Santana Shewers

3 fontanashowers.com
Customer Service: 800-684-4489



Parts : 1.Pipe, 2.Plastic box, 3.Decorative plate, 4.Connector, 5.Body, 6.Bolt #6, 7.0utlet face, 8.Bolt #8
9.0utlet face

Step 1: Remove the decorative plate out of the body

Step 2: Remove the screws from the outlet face (B) and connector body (C) with the Allen key (D).

fontanashowers.com

e t (Q/ i 4
(T orntana _Jhatvens Customer Service: 800-684-4489



Cr~ u
JQ/Q!Z/CJ

Wall

Step 3: Push the plastic box into the wall
IMPORTANT: Please make sure the UP FACE"marking
is in the top position

Step 5: Screw the connector into the pipe
with H10 wrench

Step 7: Screw the bolt #6 into the body. Make
sure the body and the connector are tight. The
decorative plate should now be secure and will
not move

Step 4: Install the decorative plate assembly into
the plastic box. Make sure the position is correct

Step 6:
connector

Install

the body assembly to the

Make sure the one side with
raised dot is in the top
position

Step 8: Install the outlet face assembly to the

body. Make sure the outlet face is fully seated onto
the body. Screw the bolt #8 through the outlet face
into the body (Do not over tighten)

Cr- <y
Fantana Showers 5

fontanashowers.com
Customer Service: 800-684-4489



(Make sure the hole and the raised dot are in
the correct position when you push the
decorative plate into the body:.)

(This side is in the bottom position when push
the decorative plate into the body first.)

Step 9: Screw the outlet face a little angled. Make the decorative plate have a little angle too
when push it into the body. Adjust the outlet face when push the decorative plate in order to put it out
of the decorative plate

Step 10: Products can adjust to the angle Step 11: Do not use abrasive sponges or
positions as shown below: face when push the microfiber cloths, corrosive cleansers,
decorative plate in order to put it out of the solvents or acids. We recommend that you
decorative plate do not use any anti-lime scale products or

cleaners containing vinegar and acetic acid.
Chemical cleaning agents may damage the
product. Clean products using only mild
soaronawet ploth

B> Use screwdriver to remove

fontanashowers.com

( %zﬁfw&@/mwaw 6 )
Customer Service: 800-684-4489



2 )
) ©

C7 /= A
CFantanal howeis

Hand-Held Shower Installations Instructions

Step 1 Step 2

\/ Teflon Tape
- |

[y h
J sprn
51 (

Step 3

Appropriate
fitting

e
igh
Fintace
su(.fa/'

=

Hand Shower Outlet Installation

- Complete the outlet pipework ensuring it ends in an appropriate 15mm x 1/2" BSP female thread elbow.
Note: This fitting is not supplied as variations in installations require the selection of a suitable solder or
compression fitting.

- Install the 'Wall Outlet', thread long male 1/2" BSP into the appropriate female fitting using PTFE tape to
give a watertight joint.

Note: The thread can be cut to size if required. Make sure that all debris is removed from the connector
and the section that has been cut is dressed correctly, before installation.

The minimum required water pressure is 0.05 MPa (0.5 bar).
Flow rate 2.5 GPM (9.5 LPM).

fontanashowers.com

Fant: (O/ i 7
(T rtanal _Jnewe Customer Service: 800-684-4489



/\/-\J P -
~, y N ) ~©
CFantanal howeis
Mixer Installations Instructions
Step 1 Step 2
& P Anchor
= & .
Tapping Screw 1 —\’ g(a)'?ltlomng
g /@7 @ ?f )

Step 3 ( Connection)

Body Spray

I Hot water

Cold water

Tapping Screw 2

T

Button Cover

Screw 1
=
Diverter
Handle

Temp.
m@

IS
&

O
O
O

Rough-in Body
ﬁ i

)
=

Ed

Oon/Off

Handle &

° =
© )
@ El

Hex Wrench

-]

Hot Water In

Overhead Shower
,‘ o
—~ “ < Hand Shower
O ’/J
4
9
i q
9 ©
=
Cold Water In

Cr- <y
Fantana Showers

fontanashowers.com
Customer Service: 800-684-4489



Crs g < )
T artantl Showeis®

| General Information |

All products manufactured and supplied by Fontana are safe and comply to legislative
requirements. Providing they are installed correctly and receive regular maintenance in
accordance with these instructions your user experience will not be affected

' Care & Cleaning

1. The product can be cleaned with warm water, a mild soap and a clean soft cloth.
2. Clean progressively and gently.

3. It is not required to use any abrasive cleaning pads, wire wool or cloths to clean the
product.

4. Avoid a vigorous cleaning action, as this could contribute to denaturing and dulling

5. Abrasive or strong cleaning products containing ammonia, bleaches, alcohol, dyes,
acids (hydrochloric, formic, phosphorus, chlorine or acetic) will be not be affected.

6. If using a spray cleaner, apply the cleaning agent onto a soft cloth, never directly
spray onto the product as the cleaner may enter gaps and openings and cause
damage. Do not allow the cleaner to remain on the product for a period of time. After
cleaning, rinse thoroughly with clean water.

Cre » < X fontanashowers.com
« Fautanal Slowe 9 .
S wnbona Shawers Customer Service: 800-684-4489



